Laredo College Grade Distribution by Course & Discipline Totals by Department SSI 2021

	# of	Total	A	\'s	1	B's	(C's	Ι)'s		P's		NP's		F's		I's	N	IC's	V	W's
Departments	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Allied Health	9	117	40	34.19%	38	32.48%	18	15.38%	12	10.26%					9	7.69%						
Art	2	52	35	67.31%	11	21.15%	2	3.85%	3	5.77%					1	1.92%						
Business and Management	4	64	35	54.69%	23	35.94%	3	4.69%							2	3.13%					1	1.56%
CIS/Electronics/CAD	5	89	46	51.69%	22	24.72%	13	14.61%	1	1.12%					5	5.62%					2	2.25%
English	21	402	115	28.61%	122	30.35%	71	17.66%	27	6.72%					41	10.20%			12	2.99%	14	3.48%
Foreign Languages	3	81	52	64.20%	17	20.99%	8	9.88%	3	3.70%					1	1.23%						
Industrial Trades	7	72	18	25.00%	36	50.00%	10	13.89%	5	6.94%					1	1.39%					2	2.78%
Kinesiology	13	419	290	69.21%	64	15.27%	28	6.68%	11	2.63%					8	1.91%					18	4.30%
Mathematics	23	365	173	47.40%	78	21.37%	36	9.86%	13	3.56%	6	1.64%			24	6.58%			11	3.01%	24	6.58%
Performing Arts	7	84	61	72.62%	14	16.67%	3	3.57%							5	5.95%					1	1.19%
Nursing (B.S.N.)	2	18	13	72.22%	5	27.78%																
Nursing (A.D.N.)	4	46	24	52.17%	17	36.96%			3	6.52%											2	4.35%
Nursing Assistant/V.N.	7	123	55	44.72%	58	47.15%	10	8.13%														
Protective Services	4	76	26	34.21%	38	50.00%	9	11.84%							2	2.63%					1	1.32%
Reading and Communications	8	186	83	44.62%	50	26.88%	20	10.75%	7	3.76%					16	8.60%					10	5.38%
Science	31	639	230	35.99%	191	29.89%	108	16.90%	40	6.26%					37	5.79%					33	5.16%
Social & Behavioral Sciences	41	1,138	651	57.21%	250	21.97%	136	11.95%	36	3.16%					37	3.25%	1	0.09%			27	2.37%
Transportation Technology	1	5			1	20.00%	3	60.00%	1	20.00%												
Total All Departments	192	3,976	1,947	48.97%	1,035	26.03%	478	12.02%	162	4.07%	6	0.15%			189	4.75%	1	0.03%	23	0.58%	135	3.40%

Success Rate (Grades A,B or C):	3,460	87.02%
Passing Rate (Grades A,B,C or P):	3,466	87.17%
Failing Rate (Grades D,F,I,NP,NC,W):	510	12.83%
8 \ /// / /		
Retention Rate (Excluding W's only):	3,841	96.60%

								(****	8	,												
	# of	Total		A's		B's		C's		D's		P's	N	P's	F	F's		I's	N	C's	W	''s
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Alli	ied H		-	tment												
								DMS	0													
DMSO 1261 Clncl-DMS Sono & Ultrasnd Tech	1	. 12	6		3		1	8.33%			0	0.00%	0		0	0.00%	0		0	0.00%	0	0.00%
Total DMSO	1	12	6	50.00%	3	25.00%	1	8.33%	2	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								EMC	ъ													
EMSP 2306 Emergency Pharmacology	1	. 6	0	0.00%	5	83.33%	1	EMS 16.67%		0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	. 6	0		5		1	16.67%		0.00%	0	0.00%	0		0	0.00%	0		0	0.00%	0	0.00%
Jub-Total (On-Campus)	1	. 0	- 0	0.0070		03.3370	1	10.0770	0	0.0070	0	0.0070	0	0.0070	0	0.0070	0	0.0070	0	0.0070	0	0.0070
EMSP 1305 Emergency Care Attendant	1	. 15	0	0.00%	1	6.67%	5	33.33%	5	33.33%	0	0.00%	0	0.00%	4	26.67%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	1	. 15	0	0.00%	1	6.67%	5	33.33%	5	33.33%	0	0.00%	0	0.00%	4	26.67%	0	0.00%	0	0.00%	0	0.00%
Total EMSP	2	21	0	0.00%	6	28.57%	6	28.57%	5	23.81%	0	0.00%	0	0.00%	4	19.05%	0	0.00%	0	0.00%	0	0.00%
								MDC														
MDCA 1313 Medical Terminology	1	. 23	5		16		0			0.00%	0	0.00%	0		2	8.70%	0		0	0.00%	0	0.00%
MDCA 1409 Anatomy Physiolgy Med Asst	1	17	1	5.88%	4	23.53%	6			29.41%	0	0.00%	0		1	5.88%	0		0	0.00%	0	0.00%
Total MDCA	2	40	6	15.00%	20	50.00%	6	15.00%	5	12.50%	0	0.00%	0	0.00%	3	7.50%	0	0.00%	0	0.00%	0	0.00%
								ОТН	Α.													
OTHA 2462 Clinical Occ Therapy Asst	1	. 7	7	100.00%	0	0.00%	0			0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total OTHA	1			100.00%	0		0			0.00%	0	0.00%	-	0.00%	0	0.00%	0		0	0.00%	0	0.00%
								PTH	A													
PTHA 1260 Clinical I PTA	1	. 9	9	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	. 9	9	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
PTHA 1301 Profession of Physcl Therapy	1	-		11.11%	9		5			0.00%	0	0.00%	_	0.00%	2	11.11%	0		0	0.00%	0	0.00%
Sub-Total (Distance-Ed) Total PTHA	1 2		2 11		9		5	27.78% 18.52%		0.00%	0	0.00%	0	0.00%	2	11.11% 7.41%	0		0	0.00%	0	0.00%
Iotai F i fia		21	11	40.7470	9	33.3376	3	10.5470	o U	0.0076	U	0.0070	U	0.0076	<u> </u>	7.4170	U	0.0070	U	0.0070	U	0.0076
								RAD	R													
RADR 1360 Clinical Practicum I	1	. 10	10	100.00%	0	0.00%	0			0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total RADR	1	10		100.00%	0		0			0.00%	0	0.00%	-	0.00%	0	0.00%	0		0	0.00%	0	0.00%
m . 1 . W. 1 . 7 . 7 . 7																						
Total Allied Health	9	117	40	34.19%	38	32.48%	18	15.38%	12	10.26%	0	0.00%	0	0.00%	9	7.69%	0	0.00%	0	0.00%	0	0.00%

Laredo College

Grade Distribution by Course & Discipline

SSI 2021 (as of August 05, 2021)

		# of	Total	1	A's		B's		C's		D's		P's	N	IP's]	F's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Art Department

ARTS

								,												
ARTS 1301 Art Appreciation	2	52	35 67.	31%	1 21.15%	2	3.85%	3	5.77%	0	0.00%	0.00%	1	1.92%	0	0.00%	0	0.00%	0	0.00%
Total ARTS	2	52	35 67.3	1%	11 21.15%	2	3.85%	3	5.77%	0	0.00%	0 0.00%	1	1.92%	0	0.00%	0	0.00%	0	0.00%
Total Art	2	52	35 67.3	1%	11 21.15%	2	3.85%	3	5.77%	0	0.00%	0 0.00%	1	1.92%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A	's	ı	3's	(C's	I	D's	I	P's	N	IP's	1	ī's		I's	N	C's	,	W's
Discipline Description	Sects.		mt ;	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Bus	iness a	nd M	[anage	ment	Depar	tmei	nt										
									ACC'		-												
ACCT 2401 Principles of Accounting I		1	24	17	70.83%	5	20.83%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	1	4.17%
ACCT 2402 Principles of Accounting II		1	15	6	40.00%	7	46.67%	1	6.67%	0	0.00%	0	0.00%	0	0.00%	1	6.67%	0	0.00%	0	0.00%	0	0.00%
Total ACCT		2	39	23	58.97%	12	30.77%	1	2.56%	0	0.00%	0	0.00%	0	0.00%	2	5.13%	0	0.00%	0	0.00%	1	2.56%
										_													
									LMG	Т													
LMGT 1319 Intro to Business Logistics		1	11	1	9.09%	8	72.73%	2	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total LMGT		1	11	1	9.09%	8	72.73%	2	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
									MRK	G													
MRKG 1301 Customer Relations		1	14	11	78.57%	3	21.43%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MRKG		1	14	11	78.57%	3	21.43%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
T-4-1 D 1 M					=				4 (00)		0.000/		0.0004		0.000/				0.000/		0.000/		
Total Business and Management		4	64	35	54.69%	23	35.94%	3	4.69%	0	0.00%	0	0.00%	0	0.00%	2	3.13%	0	0.00%	0	0.00%	1	1.56%

		# of	Total	A	\s\'s		B's		C's		D's		P's	N	NP's	F	ī's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

CIS/Electronics/CAD Department

COSC

							CODC	_												
COSC 1301 Introduction to Computing	5	89	46 51.69	6 22	24.72%	13	14.61%	1	1.12%	0	0.00%	0.00%	5	5.62%	0	0.00%	0	0.00%	2	2.25%
Total COSC	5	89	46 51.699	6 22	2 24.72%	13	14.61%	1	1.12%	0	0.00%	0 0.00%	5	5.62%	0	0.00%	0	0.00%	2	2.25%
Total CIS/Electronics/CAD	5	89	46 51.699	6 22	2 24.72%	13	14.61%	1	1.12%	0	0.00%	0 0.00%	. 5	5.62%	0	0.00%	0	0.00%	2	2.25%

	# of	Total	,	A's	F	3's	(C's		D's	1	P's	N	IP's	F	?'s		I's	N	C's	v	V's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
]	Englis	sh Dep	artm	ent												
								ENGI														
ENGL 1301 Composition I	9	172	60	34.88%	43	25.00%	27	15.70%	15	8.72%	0	0.00%	0	0.00%	20	11.63%	0	0.00%	0	0.00%	7	4.07%
ENGL 1302 Composition II	4	70	24	34.29%	23	32.86%	10	14.29%	2	2.86%	0	0.00%	0	0.00%	8	11.43%	0	0.00%	0	0.00%	3	4.29%
ENGL 2327 American Literature I	4	80	11	13.75%	29	36.25%	18	22.50%	10	12.50%	0	0.00%	0	0.00%	10	12.50%	0	0.00%	0	0.00%	2	2.50%
ENGL 2328 American Literature II	1	20	3	15.00%	13	65.00%	2	10.00%	0	0.00%	0	0.00%	0	0.00%	2	10.00%	0	0.00%	0	0.00%	0	0.00%
ENGL 2351 Mexican American Literature	1	19	7	36.84%	9	47.37%	2	10.53%	0	0.00%	0	0.00%	0	0.00%	1	5.26%	0	0.00%	0	0.00%	0	0.00%
Total ENGL	19	361	105	29.09%	117	32.41%	59	16.34%	27	7.48%	0	0.00%	0	0.00%	41	11.36%	0	0.00%	0	0.00%	12	3.32%
								INRV	V													
INRW 376 Integrated Rdg Wrtng III	2	41	10	24.39%	5	12.20%	12	29.27%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	12	29.27%	2	4.88%
Total INRW	2	41	10	24.39%	5	12.20%	12	29.27%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	12	29.27%	2	4.88%
Total English	21	402	115	28.61%	122	30.35%	71	17.66%	27	6.72%	0	0.00%	0	0.00%	41	10.20%	0	0.00%	12	2.99%	14	3.48%

		# of	Total		A's		B's		C's		D's		P's	1	NP's		F's		I's	1	NC's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Foreign Languages Department SPAN

								DI AI	•													
SPAN 1411 Beginning Spanish I	2	52	34	65.38%	12	23.08%	3	5.77%	2	3.85%	0	0.00%	0	0.00%	1	1.92%	0	0.00%	0	0.00%	0	0.00%
SPAN 2311 Intermediate Spanish I	1	29	18	62.07%	5	17.24%	5	17.24%	1	3.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total SPAN	3	81	52	64.20%	17	20.99%	8	9.88%	3	3.70%	0	0.00%	0	0.00%	1	1.23%	0	0.00%	0	0.00%	0	0.00%
Total Foreign Languages	3	81	52	64.20%	17	20.99%	8	9.88%	3	3.70%	0	0.00%	0	0.00%	1	1.23%	0	0.00%	0	0.00%	0	0.00%

	# of	Total	,	A's	В	3's		C's	j	D's	I	P's	N	IP's	F	i's		I's	N	IC's	v	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Indus	trial '	Trades	Dep	artmei	nt											
								ELPT	_													
ELPT 1457 Industrial Wiring	1	10	7	70.00%	3	30.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total ELPT	1	10	7	70.00%	3	30.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								WLD	3													
WLDG 1434 Intro Gas Tungsten Arc Wldg	2	18	5	27.78%	9	50.00%	1	5.56%	3	16.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
WLDG 1453 Interm Layout and Fabricatn	2	18	6	33.33%	7	38.89%	4	22.22%	1	5.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
WLDG 2406 Intermediate Pipe Welding	1	13	0	0.00%	9	69.23%	2	15.38%	0	0.00%	0	0.00%	0	0.00%	1	7.69%	0	0.00%	0	0.00%	1	7.69%
WLDG 2443 Adv Shielded Metal Arc Wldg	1	13	0	0.00%	8	61.54%	3	23.08%	1	7.69%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	7.69%
Total WLDG	6	62	11	17.74%	33	53.23%	10	16.13%	5	8.06%	0	0.00%	0	0.00%	1	1.61%	0	0.00%	0	0.00%	2	3.23%

10 13.89%

5 6.94%

0 0.00%

1 1.39%

0 0.00%

0.00%

2 2.78%

0.00%

18 25.00%

36 50.00%

Total Industrial Trades

Laredo College Grade Distribution by Course & Discipline

# of Total A's B's C's D's P's NP's F's I's Discipline Description Sects. Enrollmt # % # % # % # % # % # % # % # % # % #														I's	N	C's	,	W's				
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
	Kinesiology Department																					
								KINE	_													
KINE 1301 Foundations of Kinesiology	8	304	207	68.09%	51	16.78%	17	5.59%	7	2.30%	0	0.00%	0	0.00%	4	1.32%	0	0.00%	0	0.00%	18	5.92%
KINE 1304 Personal Community Health	4	99	73	73.74%	9	9.09%	9	9.09%	4	4.04%	0	0.00%	0	0.00%	4	4.04%	0	0.00%	0	0.00%	0	0.00%

12.50%

6.68%

6.68%

0

11

11

0.00%

2.63%

2.63%

0

0.00%

0.00%

0.00%

0.00%

0.00%

0.00%

0

0.00%

1.91%

8 1.91%

0.00%

0.00%

0 0.00%

0

0

0

0.00%

0.00%

0.00%

0

18

0.00%

4.30%

18 4.30%

2

28

28

KINE | 1346 Drug Use and Abuse

Total Kinesiology

Total KINE

16

419

419

13

13

10

290

62.50%

69.21%

290 69.21%

4 25.00%

64 15.27%

64 15.27%

		# of	Total	A	\'s		B's		C's		D's		P's	N	NP's	1	F's		I's	1	NC's		W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Mathematics Department MATH

								MAIT	1													
MATH 301 Self Paced Devlopmntl Math	1	17	10	58.82%	3	17.65%	2	11.76%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	11.76%	0	0.00%
MATH 314 College Algebra Co Req	2	33	23	69.70%	5	15.15%	1	3.03%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	4	12.12%	0	0.00%
MATH 324 Math Bus Soc Sci Coreq	1	9	0	0.00%	1	11.11%	0	0.00%	0	0.00%	4	44.44%	0	0.00%	0	0.00%	0	0.00%	3	33.33%	1	11.11%
MATH 342 Elem Stat Methods Co Req	1	9	2	22.22%	2	22.22%	0	0.00%	0	0.00%	2	22.22%	0	0.00%	0	0.00%	0	0.00%	2	22.22%	1	11.11%
MATH 1314 College Algebra	4	69	35	50.72%	15	21.74%	9	13.04%	2	2.90%	0	0.00%	0	0.00%	8	11.59%	0	0.00%	0	0.00%	0	0.00%
MATH 1316 Plane Trigonometry	1	9	7	77.78%	1	11.11%	1	11.11%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MATH 1324 Math for Bus and Soc Science	4	48	17	35.42%	14	29.17%	4	8.33%	5	10.42%	0	0.00%	0	0.00%	5	10.42%	0	0.00%	0	0.00%	3	6.25%
MATH 1325 Calculus For Bus and Soc Sci	1	24	11	45.83%	5	20.83%	6	25.00%	1	4.17%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	0	0.00%
MATH 1342 Elem Statistical Methods	3	60	26	43.33%	13	21.67%	6	10.00%	1	1.67%	0	0.00%	0	0.00%	6	10.00%	0	0.00%	0	0.00%	8	13.33%
MATH 1350 Fundamentals of Math I	2	33	20	60.61%	7	21.21%	2	6.06%	0	0.00%	0	0.00%	0	0.00%	3	9.09%	0	0.00%	0	0.00%	1	3.03%
MATH 2412 Pre-Calculus Math	1	24	8	33.33%	7	29.17%	3	12.50%	4	16.67%	0	0.00%	0	0.00%	1	4.17%	0	0.00%	0	0.00%	1	4.17%
MATH 2413 Calculus I	2	30	14	46.67%	5	16.67%	2	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	9	30.00%
Total MATH	23	365	173	47.40%	78	21.37%	36	9.86%	13	3.56%	6	1.64%	0	0.00%	24	6.58%	0	0.00%	11	3.01%	24	6.58%
m , 115 d																						
Total Mathematics	23	365	173	47.40%	78	21.37%	36	9.86%	13	3.56%	6	1.64%	0	0.00%	24	6.58%	0	0.00%	11	3.01%	24	6.58%

	# of	Total A's				B's		C's		D's		P's		VP's		F's		I's	N	IC's		W's
Discipline Description		Enrollmt		%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
	·									·		·										
						Perfo	ormir	ng Art	s Dep	artmer	nt											
								DRA	-													
DRAM 1310 Introduction to Theater	1	8	2	25.00%	3	37.50%	0	0.00%	6 0	0.00%	0	0.00%	0	0.00%	2	25.00%	0	0.00%	0	0.00%	1	12.509
Total DRAM	1	8	2	25.00%	3	37.50%	0	0.00%	ó O	0.00%	0	0.00%	0	0.00%	2	25.00%	0	0.00%	0	0.00%	1	12.50%
								MUA	P													
MUAP 1262 Applied Guitar	1	1	1	100.00%	0	0.00%	0	0.00%	6 0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
MUAP 2229 Applied Clarinet	1	1	1	100.00%	0	0.00%	0	0.00%	6 0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUAP	2	2	2	100.00%	0	0.00%	0	0.00%	ó 0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								MUS	SI													
MUSI 1306 Music Appreciation	3	60	49	81.67%	7	11.67%	1	1.67%	6 0	0.00%	0	0.00%	0	0.00%	3	5.00%	0	0.00%	0	0.00%	0	0.00%
MUSI 1310 American Music	1	14	8	57.14%	4	28.57%	2	14.29%	ó 0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total MUSI	4	74	57	77.03%	11	14.86%	3	4.05%	6 0	0.00%	0	0.00%	0	0.00%	3	4.05%	0	0.00%	0	0.00%	0	0.00%
Total Performing Arts	7	84	61	72.62%	14	16.67%	3	3.57%	о́ 0	0.00%	0	0.00%	0	0.00%	5	5.95%	0	0.00%	0	0.00%	1	1.19%

	# of	Total		A's	1	B's		C's	I	D's		P's	N	IP's	F	"s		I's	N	IC's	V	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Numa	ina (D		Done	ntm on	.4											
						Nurs	ing (B		_	ırımen	ıt											
Nursing (B.S.N.) Department NURS																						
NURS 4260 Comm Nursing Clncl (Capstone)	1	9	9	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	1	9	ç	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
NURS 4401 Comm Nrsng: Popul & Cltre	1	9	4	44.44%	5	55.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (Distance-Ed)	1	9	4	44.44%	5	55.56%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total NURS	2	18	13	72.22%	5	27.78%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

0.00%

0.00%

0.00%

0 0.00%

0 0.00%

13 72.22%

5 27.78%

Total Nursing (B.S.N.)

0.00%

	# of	Total	1	A's	I	B's	(C's]	D's		P's	N	IP's	F	?'s		I's	N	C's	,	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Nursi	ing (A	.D.N.)	Dep	artmei	nt											
								RNSC	j													
RNSG 2363 Clinical RN Adv Med Surg	2	16	15	93.75%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Sub-Total (On-Campus)	2	16	15	93.75%	1	6.25%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
RNSG 2307 Adaptatn to Role of Prof Nur	1	11	8	72.73%	2	18.18%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	9.09%
RNSG 2331 Adv Concepts of Adult Health	1	19	1	5.26%	14	73.68%	0	0.00%	3	15.79%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	5.26%
Sub-Total (Distance-Ed)	2	30	9	30.00%	16	53.33%	0	0.00%	3	10.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	6.67%
Total RNSG	4	46	24	52.17%	17	36.96%	0	0.00%	3	6.52%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	4.35%

0 0.00%

3 6.52%

0.00%

0 0.00%

0 0.00%

0 0.00%

0 0.00%

2 4.35%

24 52.17%

17 36.96%

Total Nursing (A.D.N.)

Laredo College Grade Distribution by Course & Discipline

SSI 2021 (as of August 05, 2021)

	# of Total		A's	F	B's		C's		D's		P's	N	P's	1	F's		I's	1	NC's	,	W's
Discipline Description	Sects. Enrol	llmt #	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Nursing Assistant/V.N. Department

VNSG

								VIND	J													
VNSG 1205 NCLEX PN Review	1	41	15	36.59%	24	58.54%	2	4.88%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
VNSG 1263 Clncl LPVN Trng Capstone	5	41	39	95.12%	2	4.88%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
VNSG 2410 Nursing In Health Ilness III	1	41	1	2.44%	32	78.05%	8	19.51%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total VNSG	7	123	55	44.72%	58	47.15%	10	8.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Nursing Assistant/V.N.	7	123	55	44.72%	58	47.15%	10	8.13%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

	# of	Total		A's		B's	(C's	ī)'s	,	P's	NF	P's		F's		I's	N	IC's	v	V's
Discipline Description		Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
						Protec	tive S	Service	s Der	artme	nt											
								CJCF	-													
CJCR 1300 Basic Jail Course	1	. 9	1	11.11%	8	88.89%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total CJCR	1	9	1	11.11%	8	88.89%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								CJLE														
CJLE 1329 Basic Peace Officer V	1	. 16	16	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total CJLE	1	16	10	100.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
								CRIJ														
CRIJ 1310 Fundamentals of Criminal Law	1	. 26	7	26.92%	12	46.15%	5	19.23%	0	0.00%	0	0.00%	0	0.00%	1	3.85%	0	0.00%	0	0.00%	1	3.85%
CRIJ 2328 Police Systems and Practices	1	. 25	2	8.00%	18	72.00%	4	16.00%	0	0.00%	0	0.00%	0	0.00%	1	4.00%	0	0.00%	0	0.00%	0	0.00%
Total CRIJ	2	51	9	17.65%	30	58.82%	9	17.65%	0	0.00%	0	0.00%	0	0.00%	2	3.92%	0	0.00%	0	0.00%	1	1.96%
Total Protective Services	4	76	20	34.21%	38	50.00%	9	11.84%	0	0.00%	0	0.00%	0	0.00%	2	2.63%	0	0.00%	0	0.00%	1	1.32%

		# of	Total	A	\s\'s		B's		C's		D's		P's	N	NP's	F	ī's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Reading and Communications Department SPCH

								DI CI	L													
SPCH 1311 Intro to Speech Communication	5	114	53	46.49%	29	25.44%	10	8.77%	7	6.14%	0	0.00%	0	0.00%	9	7.89%	0	0.00%	0	0.00%	6	5.26%
SPCH 1315 Public Speaking	3	72	30	41.67%	21	29.17%	10	13.89%	0	0.00%	0	0.00%	0	0.00%	7	9.72%	0	0.00%	0	0.00%	4	5.56%
Total SPCH	8	186	83	44.62%	50	26.88%	20	10.75%	7	3.76%	0	0.00%	0	0.00%	16	8.60%	0	0.00%	0	0.00%	10	5.38%
Total Reading and Communications	8	186	83	44.62%	50	26.88%	20	10.75%	7	3.76%	0	0.00%	0	0.00%	16	8.60%	0	0.00%	0	0.00%	10	5.38%

								(000 01 1		,	,											
	# of	Total	A	\'s	F	B's	(C's		D's	1	P's	N	IP's	1	F's		I's		IC's	V	V's
Discipline Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
*		'																				
							.	ъ.														
						2	scieno	ce Dep		ent												
								BIOL														
BIOL 1106 Biol for Sci Majors I Lab	2	34	13	38.24%	12	35.29%	6	17.65%	2	5.88%	0	0.00%	0	0.00%	1	2.94%	0	0.00%	0	0.00%	0	0.00%
BIOL 1108 Biol Non Sci Majors Lab I	2	45	13	28.89%	17	37.78%	11	24.44%	3	6.67%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	2.22%
BIOL 1306 Biology for Science Majors I	2	34	7	20.59%	10	29.41%	6	17.65%	7	20.59%	0	0.00%	0	0.00%	4	11.76%	0	0.00%	0	0.00%	0	0.00%
BIOL 1308 Biol Non Science Majors I	4	84	9	10.71%	32	38.10%	20	23.81%	15	17.86%	0	0.00%	0	0.00%	5	5.95%	0	0.00%	0	0.00%	3	3.57%
BIOL 2101 Anatomy and Physiology I Lab	3	30	4	13.33%	8	26.67%	7	23.33%	2	6.67%	0	0.00%	0	0.00%	4	13.33%	0	0.00%	0	0.00%	5	16.67%
BIOL 2102 Anatomy Physiology II Lab	1	28	11	39.29%	14	50.00%	2	7.14%	0	0.00%	0	0.00%	0	0.00%	1	3.57%	0	0.00%	0	0.00%	0	0.00%
BIOL 2301 Anatomy and Physiology I	4	51	3	5.88%	5	9.80%	22	43.14%	3	5.88%	0	0.00%	0	0.00%	6	11.76%	0	0.00%	0	0.00%	12	23.53%
BIOL 2302 Anatomy and Physiology II	2	46	25	54.35%	10	21.74%	8	17.39%	3	6.52%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total BIOL	20	352	85	24.15%	108	30.68%	82	23.30%	35	9.94%	0	0.00%	0	0.00%	21	5.97%	0	0.00%	0	0.00%	21	5.97%
								CHEN	1													
CHEM 1105 Introductory Chemistry I Lab	1	27	9	33.33%	10	37.04%	4	14.81%	1	3.70%	0	0.00%	0	0.00%	2	7.41%	0	0.00%	0	0.00%	1	3.70%
CHEM 1111 General Chemistry I Lab	1	21	8	38.10%	8	38.10%	2	9.52%	0	0.00%	0	0.00%	0	0.00%	1	4.76%	0	0.00%	0	0.00%	2	9.52%
CHEM 1305 Introductory Chemistry I	1	34	8	23.53%	14	41.18%	7	20.59%	1	2.94%	0	0.00%	0	0.00%	3	8.82%	0	0.00%	0	0.00%	1	2.94%
CHEM 1311 General Chemistry I	1	24	10	41.67%	7	29.17%	1	4.17%	0	0.00%	0	0.00%	0	0.00%	4	16.67%	0	0.00%	0	0.00%	2	8.33%
Total CHEM	4	106	35	33.02%	39	36.79%	14	13.21%	2	1.89%	0	0.00%	0	0.00%	10	9.43%	0	0.00%	0	0.00%	6	5.66%
								ENGI	₹													
ENGR 1304 Engineering Graphics I	1	21	18	85.71%	1	4.76%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	2	9.52%
Total ENGR	1		18	85.71%	1	4.76%	0	0.00%	0	0.00%	0	0.00%	0	0.0070	0	0.00%	0		0	0.00%	2	9.52%
Total Little	•		10	00.7170	-	4.7070	v	0.0070	· ·	0.00 / 0	· ·	0.0070	U	0.0070	· ·	0.0070	v	0.0070	v	0.0070		7.0270
								GEOI	r													
GEOL 1101 Earth Sci NonSci Majrs I Lab	1	29	11	37.93%	12	41.38%	4	13.79%	0	0.00%	0	0.00%	0	0.00%	1	3.45%	0	0.00%	0	0.00%	1	3.45%
GEOL 1301 Earth Sci Non Sci Majors I	3		37	50.68%	20	27.40%	6	8.22%	3	4.11%	0	0.00%	0		5		0		0	0.00%	2	2.74%
_	4		48		32		10	9.80%	3		0		-		-		-		0		3	2.74%
Total GEOL	4	102	48	47.06%	32	31.37%	10	9.80%	3	2.94%	U	0.00%	U	0.00%	6	5.88%	0	0.00%	U	0.00%	3	2.94%
								DIIX	3													
		1			. 1			PHYS														
PHYS 1101 College Physics I Lab	1	20	21	75.00%	7		0	0.00%	0	0.00%	0	0.00%	0		0		0		0	0.00%	0	0.00%
PHYS 1301 College Physics I	1	50	23	76.67%	4	13.33%	2	6.67%	0	0.00%	0	0.00%	0		0	0.00%	0		0	0.00%	1	3.33%
Total PHYS	2	58	44	75.86%	11	18.97%	2	3.45%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	1.72%
Total Science	. 21	620	220	25 000/	101	20.800/	100	16 000/	40	6 260/	0	0.000/	0	0.000/	27	5 700/	Δ	0.000/	0	0.000/	22	E 160/
Total Science	31	639	230	35.99%	191	29.89%	108	16.90%	40	6.26%	0	0.00%	U	0.00%	37	5.79%	0	0.00%	0	0.00%	33	5.16%

Discipline Description	# of Sects.	Total Enrollmt	#	\s %	#	8's	#	C's %	# #	D's	#	P's %	N.	P's	#	?'s	#	I's	Nº	C's	W #	V's %
	'									·							,		,			
					Socia	ıl & Be	havio	oral Sci	ience	s Depa	rtm	ent										
								ECON	1													
ECON 2301 Principles of Macroeconomics	3		56	65.12%	20	23.26%	6	6.98%	1	1.16%	0	0.00%		0.00%	3	3.49%	0		0	0.00%	0	0.00%
Total ECON	3	86	56	65.12%	20	23.26%	6	6.98%	1	1.16%	0	0.00%	0	0.00%	3	3.49%	0	0.00%	0	0.00%	0	0.00%
								GEOG	1													
GEOG 1303 World Regional Geography	1	6	2	33.33%	1	16.67%	1	16.67%	0	0.00%	0	0.00%	0	0.00%	1	16.67%	0	0.00%	0	0.00%	1	16.67%
Total GEOG	1	6	2	33.33%	1	16.67%	1	16.67%	0	0.00%	0	0.00%		0.00%	1		0	0.00%	0	0.00%	1	
								GOVI	Γ													
GOVT 2305 Federal Government	8	220	124	56.36%	61	27.73%	19	8.64%	5	2.27%	0	0.00%	0	0.00%	4	1.82%	0	0.00%	0	0.00%	7	3.18%
GOVT 2306 Texas Government	3	119	78	65.55%	26	21.85%	9	7.56%	0	0.00%	0	0.00%	0	0.00%	5	4.20%	0	0.00%	0	0.00%	1	0.84%
Total GOVT	11	339	202	59.59%	87	25.66%	28	8.26%	5	1.47%	0	0.00%	0	0.00%	9	2.65%	0	0.00%	0	0.00%	8	2.36%
								HIST														
HIST 1301 United States History I	8	180	71	39.44%	44	24.44%	35	19.44%	16	8.89%	0	0.00%	0	0.00%	11	6.11%	0	0.00%	0	0.00%	3	1.67%
HIST 1302 United States History II	3		43	40.95%	24	22.86%	23	21.90%	5	4.76%	0	0.00%	-	0.00%	7	6.67%	1	0.95%	0	0.00%	2	1.90%
Total HIST	11		114	40.00%	68	23.86%	58	20.35%	21	7.37%	0	0.00%			18	6.32%	1	0.35%	0	0.00%	5	1.75%
								PHIL														
PHIL 1301 Introduction to Philosophy	1	11	4	36.36%	1	9.09%	4	36.36%	1	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	9.09%
Total PHIL	1	11	4	36.36%	1	9.09%	4	36.36%	1	9.09%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	1	9.09%
								PSYC														
PSYC 2301 General Psychology	9		188	65.28%	54	18.75%	24	8.33%	8	2.78%	0	0.00%	-	0.00%	4	1.39%	0		0	0.00%	10	3.47%
PSYC 2314 Life Span Growth and Dev	3		78	76.47%	12	11.76%	8	7.84%	0	0.00%	0	0.00%		0.00%	2	1.96%	0		0	0.00%	2	1.96%
Total PSYC	12	390	266	68.21%	66	16.92%	32	8.21%	8	2.05%	0	0.00%	0	0.00%	6	1.54%	0	0.00%	0	0.00%	12	3.08%
								SOCI														
SOCI 1301 Introduction to Sociology	2	21	7	33.33%	7	33.33%	7	33.33%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total SOCI	2		-	33.33%		33.33%	7	33.33%	0	0.00%	0	0.00%		0.00%	0	0.00%	0		0	0.00%	0	0.00%
Total Social & Behavioral Sciences	41	1,138	651	57.21%	250	21.97%	136	11.95%	36	3.16%	0	0.00%	0	0.00%	37	3.25%	1	0.09%	0	0.00%	27	2.37%

Laredo College Grade Distribution by Course & Discipline

SSI 2021 (as of August 05, 2021)

		# of	Total		A's		B's		C's		D's		P's	N	NP's		F's		I's	1	NC's	,	W's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%

Transportation Technology Department

٨	T	T	Æ	Т	
ᄺ		110	′∎		

								AUNII														
AUMT 2421 Auto Elect Lightng Accessors	1	5	0	0.00%	1	20.00%	3	60.00%	1	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total AUMT	1	5	0	0.00%	1	20.00%	3	60.00%	1	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%
Total Transportation Technology	1	5	0	0.00%	1	20.00%	3	60.00%	1	20.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%	0	0.00%

		# of	Total	1	A's	F	B's	(C's	D	D's	I	P's	N	IP's	F	"s		I's	N	C's	V	V's
Discipline	Description	Sects.	Enrollmt	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%	#	%
Total All	Departments	192	3,976	1,947	48.97%	1,035	26.03%	478	12.02%	162	4.07%	6	0.15%	0	0.00%	189	4.75%	1	0.03%	23	0.58%	135	3.40%

Success Rate (Grades A,B or C):	3,460	87.02%
Passing Rate (Grades A,B,C or P):	3,466	87.17%
Failing Rate (Grades D,F,I,NP,NC,W):	510	12.83%
Retention Rate (Excluding W's only):	3,841	96.60%